o) S8suns)sunwung $H8 djsnis
e !
S

s )
AnjapoNfisanAIgp AW

Dr. NGANN Sundet, Professor of RULE



a5SMISS
Equation of Variance

Q FOWASNEEMES: 1. Ye; =0, 2.Y =7, 3.7 X;e; =0, 4% V;e; =0

1. Zei =0
HISBEMINNAINN Y, =B+ X+ e =2 XY, =X B0+ 0 X + Y e —

ZYi—nﬁo—ﬁAﬁZXi:Zei (1)

AW eIALY fo =¥ — fi¥ = fo = TY; — f XX B (D

>YY -2V +p XX —pEXi=Ye=0=>2€=0
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ROUHIS Y, =V +e, 2V, -V =¢, =)V, -y =Ye, =07V =7
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Equation of Variance

3.5 Xie; = 0 BSRURIY ¢; = Y, — By — BuX; ITUMS
YXie; =YX (Y, — Bo— B1Xy) =X XY, —Bo X Xi — 1 T X[

NS UFSAN N UYWISHUUAMIRIEH T
OR
9p1
YXie; =YX, —BoXXi— 1 XX =0 "]
4.2?1'31':0 [[ﬁlﬁms ?L =,6A’0+,6A’1Xi$

YVie,=X(Bo+PiX)ei =Y hoei + X Xie,=PoXe+ X Xie; =0

= 20 XY, + 2By N X; + 28, X X% = 0 [GAu@nNifn -2 nfhms
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Equation of Variance

Qg mingjil

ITANS Y, =V +g oV, -V =0 -V +¢ > (Yi—7)2=((?i—17)+ei)2
NARISNY SWFRUYANTINSUGHThUSUNU

S - V)’=3(F - 7)* + Se? + 25(Fi — P)e; =

Y —7)2=Y(% -2+ Ye2 +2Y Ve, —2Y Ve DN YVe; =0,and ¥ Ye; =0
(Y —7)? = (% -7+ Ye? wwmthasgmingi

M TSS=Y(Y; — V)2, ESS= (¥, — 7)? , RSS=Y e;?

IS1GUMGU oM SEMINGNA 7SS = £SS + ASS
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Equation of Variance

Q MmN (ANOVA)

RS UBMINIH 7SS = £SS + ASS I0IGAAISNYIS: {1 TSS tiry

5 __ESS+R _ESS | RSS _ ., . Ye?
[EEJUH“I Sﬁ‘li[‘[}ﬁ‘[}?ﬂj = Trss T KO F L(Yi-7)?
2 _ 4 __ e  ooc oy ESS _ T(-P)?
AQWS R =1 -0 U R =10 =80—25
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Equation of Variance

Sum of Square Degree of freedom (df)

BUYRMI Ao a sl
ESS = Y (¥, — 7)? 1

RSS = ¢;2 n-2

TSS =3(Y; - ¥)?

Mean Square (MS)
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ESS
1
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Equation of Variance

GIGEY Ho: By = 0 BISSWNtNMILGIAeY Hy: ESS=0 HIBINS[M X,
sislansiguaATmang

YA IGURIRIGS Hy: ESS = 0 1SS sUyARY Hy:ESS # 0 fORIS

i§[ﬁﬁgﬁﬁ ignjaj“mmﬁms Fisher(Fisher Score)s
ESS  3(@-7)? £SS ESS 753 R*

_Yess _ _ 1~ o pr=HESS _ __1___ _ 1 __1

RSS_ — "3 e2 — TRSS — TSS—ESS — (TSS—ESS)/TSS — {_Rr2

dfRSs n-2 dfRrss n—2 n-2 n—2
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Equation of Variance
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« ONMGITIGANEINSTN fo =V - fX = ¥ = f, + /X SIGjAISNY
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Equation of Variance

N¥;-92  Bix(x i—?_f)z
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Equation of Variance

RSS
. . == o RSS _ 57—3 _, RSS _ Var(ep)
ngij[gjn[U[Ujijanﬂ ISPy Tss TS5 ~ Tss Var(Y;)

n-1
cl ESS+R ESS RSS ESS Var(e;) R33S
- ar(e; — —
- MUNBISAHISNY 1= =S ——— R R2 =] B2
TSS TSS TSS TSS Var(Y;) —
n_
R35S RSS 1 TSS—ESS ESS
= n— — n—-1 n-1
SR2=1-42=1—-"Z="x—=1- Xe—=1-—(1-22) x
dob) TSS n—-2 TSS n—-2 TSS n—
n-1
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bauxite x; I3 UHISAND T UGH UM SUNMMB S MITMA N I{MYS
y; =132.80 —1.1x; +¢;, i = 1,2,...85
(4.3)  (10.2)
(.): ratio of Student, Y e? = 6 234.32
FIRNT A, UM IR AYRRAYHy: f; =0 MSHANIGUEAAY R = 0 10U R IBHANISMI
thiiaAgnGisHifnn x 80 y, duiaiann g 8. siamni ﬂgasmm]amnmsmnj
UG g rumsanainNi /. 1Gm NG ey Fisher &. ARNSUBHANTAR{HI R 7
GGt

R
1

ha}])

A. UIMMIA Y
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A TR N B, = 2(;(1(;)(;3 D

BiZ(i =D =T =i x BT Xi— 8P =B % X - X)? = L(F - V)2 = £SS
ST AN ] SN m‘?hmsmﬂ WU N AIGE RIS RIG g6 Fisher,

. R? N2 « _ RYn-— R\/85-2
"~ (1-R%)/(n-2) )=t \/1—R =102 = V1-R?’

AU EANSY ISR S R2 = 0.556 = |R| = 0.745
1S SIGIDNIG IR M S IGAFSNING 81 y, higwms WITHIGM S wannis
MithUmANgumsSHASWwAIA2N0 (ARUNEAW §%1

HIGS IWANN R = 0.745 # 0 °]
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2. MNHNj
igjasimnaimanjindaagjaniaigisagneimasyw o
ESS =Y (X; — X)?,RSS = Y e?,TSS = Y(Y; — V)% and R? = 1—%, sumsings

R? = 0.556,RSS = ¥, e2=6234.32, TSS = —=>> = 23%%2 _ 14041.26,
ESS = TSS — RSS = 7806.94

mnaiaulansnimys

1-R2 ~ 1-0.556

Source of variable Sum Square Degree of Freedom Mean Square
X; ESS = 7806.94 1 7806.94
Residual RSS = 6234.32 85-2 75.11
Total TSS = 14041.26 85-1
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- HNATSTSIGMT

. ESS/1 _ 7806.94/1
"~ RSS/(n-2)  6234.32/83

W HGR A ITRIH F* = (6%)%= 10.22 ~ 104

=103.94 > F{ % = 3.96

G1Gs ISR A ANATNNINW YHIE]sinw nnsmitiinauyhnggisiywh
Ho H1
ﬁl =0 ﬁl *= 0
Ryy = Ryy #0
ESS=0 ESS+ 0

=l
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A IHAANANNR A G SHiAR{YI R?
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IOHUTIS R2=1—- (1 —R?) x 2L =1-(1-0556)2"1 = 0,550
n—2 85-2

HIG: AIYIYANN R? = 0.550 < R? = 0.556



